D-SUB Hoobs AND ACCESSORIES

D-SUB HARDWARE ACCESSORIES
Hex bolt-spacer — Screw locking

DESCRIPTION

m  Material: Steel nickel plated
m  Delivery includes:

- Single hex bolts
- Set composed of each with
- 2 hex bolts

- 2 flat washers
- 2 spring rings

- 2 nuts
RoHS compliant
PRODUCT DRAWING
Single hex bolt Screw locking set
N
— < g % H — <
N
[ 3 J o)
= A 5 g Z . 2 =
e el = ALsS 3
=3 =3 4 4
1 [}
-~ -~
Single hex bolt set Hex bolt nut .228"/5.8 mm
N ; —
w
5.8 s
= A 5 s 3 3
& -+ Accessories
Flat washer Spring rings Nut
—— == O
© @) @)
U . =7
ORDER DATA
SINGLE HEX BOLTS PACKAGING UNIT 200 PIECES SCREW LOCKING SET PACKAGING UNIT 100 PIECES
Length A Internal / External thread Part Number Length A Internal / External thread Part Number
.256"/6.5 mm  4-40 UNC / 4-40 UNC 740-353770 315"/80mm  4-40 UNC / 4-40 UNC 160X10329 X
315"/80mm  4-40 UNC / 4-40 UNC 740-331370
433"/11.0 mm  4-40 UNC / 4-40 UNC 740331570
512"/13.0mm  4-40 UNC / 4-40 UNC 740-331870 OTHER ACCESSORIES PACKAGING UNIT 200 PIECES
.551"/14.0 mm 4-40 UNC / 4-40 UNC 740331670 Description Part Number
158"/40mm M3 / M3 740-354470 |
276'/70mm M3 /M3 740-320570 I-:ex bolthnut 228"/5.8 mm 160X10379 X
315"/80mm M3 /M3 740-342470 Flat washer L5307
512'/130mm M3 /M3 740-365270 Spring ring 765329570
158'/40mm_ 4-40 UNC / M3 740354370 ‘,\‘A ‘3‘0 UNC nut ;ggggggg
276"/70mm_ 4-40 UNC / M3 740-320170 nut -
.512"/13.0 mm 4-40 UNC / M3 740-344970
SINGLE HEX BOLTS SET PACKAGING UNIT 100 PIECES
Length A Internal / External thread Part Number
315"/80mm  4-40 UNC / 4-40 UNC 160X10359X
.551"/14.0 mm 4-40 UNC / 4-40 UNC 160X10639X
315"/80mm M3 / M3 160X10529X

7148 CONEC®





